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Key Stage 1
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Lower Key Stage 2
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If you count in steps of 15 starting from 0, how many steps will it take to reach:
2, dor6
What do you notice?
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Play this slide to accompany counting in fifths. 0z dZYU dzLJ )/-R R2 ﬂy’ A Y S dZYF
0¢KS RSOAYLFt NBO2NRAYR 27
F2NXIEEe Ay SIENIn opRY {
nNeMEZ NOHDPDPD
' rVwhnrnerTy
| =/ =/ =/ ‘Lr‘
.’-’x ALA[AKA
hyS UDKXZ (g2 UDKaXoddp UDKAE QW UDK
K§LBYKKk 6660y OSiYo2NBEO] ENRAE GZNOSAKN NP P T
O2dzy G dzLJ YR R2¢y Ay GSyiKa
MKMMA2Z HKMNZ O0OKMI
nomzs nouw SGO0
MLl A& 2yS dSydk 27 wmpiPPING S aQRky SOU usSyuka dz LIPS ¢
{0 Gdzi 2 NE O
2ZF MwMm
/2YY2y YAaA02yOSLIo2yY CKS ydzYoSNI KFEF Italbaa |f)\§é KIt 3
| | 1
(0] a 1
2
| 1 1 | 1
o k: 2 3 1
) i) 4
l | | | ] | ]
[ | I 1 .n tdzLJAfa akz2dzZ R OpyyYSoi
(0] E 3 2 1 GSyldka G2 LIXIOS QlLfdzp |y
3 3 dZNB® 6b2y {iGF Gdzi2NE $daR
2Kl G s2df R 32 KSNBK |28 R2 ééézy‘ﬂ%?élgff veyse Ozdyepd A
OKdzy RNBRUK 2F MmO
2KFG Aa KFEEF 2F 2yS (KANRK .
MnLl ouSYyuK 2F MO
'aS AGNRARLIA 2F LI LISNI G2 UyR 2ldzi GKS ,YA3aAy3d FNI Jo2f o
/'Y Aa U0USYUOUK 2 Y
c LASOSa 2F OFNR U0 Ay ™ ¢ K2HSo—p=feS—irfiririy=—a—F~OcpPy A




wSO023ayA&AYI FTNIOo2yads> O2YLI NARY3 VYR

Which of these show half of each whole b/ 9 ¢a@BYOKAYI F2NJ altaidSNBY vdSas2yal G a
shape? YSyido | w
Explain your reasoning.
Which of these diagrams have % of the whole shaded?
Children should talk about the two parts
heeding to be equal parts of the whole.
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0dd one out

Which is the odd one out from the group (not half)?

Same and different

Tell me what is the same/different about these sets and images.

Sorting activity
Give set of images- how can you sort them? Explain how and why you have sorted them like that.

True or false?
Allthe images (like those shown above) represent a half. Explain.
All shapes splitinto 2 are then splitinto halves. Explain.

Give an example of...

Another shape or set of items- splitinto two half. Show 1 half.
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Y 2 recognise, find, Yn'a e nalpodf war ilteen gftrha, c tsihoanpse, set] of
Y3 ecognise, find and write fractions ofuna tdifscrcdti e nset
small denominators

Y4 ecogni se that hundredths arise when dividing an Jobj e
Y5 recognise and use thousandths and relate them t¢ te
(appears also in Equivalence)
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Odd one out

Which is the odd one out and why?
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0 . 5 Add some other examples to
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What's the same? What's different?
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The large rectangle above is divided into a series of smaller quadrilaterals and
triangles. Each of the shapes is a fractional part of the large rectangle.

Can you untangle what fractional part is represented by each of the ten
humbered shapes?
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Pupils write the shaded part as 5 . i.e_ they see three parts
green and five parts white and record these numbers as a
fraction. The denominator refers to the whole and the numerator is the part of this.
“\‘ 1 .{__——-___________
“_'\\-J —_
2
Pupils identify these parts a thirds. {Denominator is Down the bottom of the fraction)
arhal2yOSLll2yayY CNI Os2ya SHNBINBk RK2 2S LRIBOISAE 2 Wi F{])KISHN&* | K|y
Jayne says that the shaded part of the whole square below does not show a half
because there are three pieces, not two.
Do you agree?
Explain your reasoning.
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You need two pieces of A4 paper — two different colours works best.
Fold one piece of paper in half to make an A5 sized piece and overlay it on the unfolded
sheet as central as you can to make a frame around the folded sheet. This is what you
should see:
t NEGS AGH
_] 26 Oly @&2dz OKSO1 K
What fraction of the Ad sheet is the frame?
How can you reason that both the frame and the central piece are the same fraction of the
Halving
These images show squares split in half:
\ / KGLIEYKKYNROKO®Y (i K& df2 NH«
=1 | | (=7 =]
(= | | L= | | L=
How might you check that each was correct?
Can you think of more ways to split a square into two halves?
You might like to use squared paper to draw your ideas on.
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Only a fraction of each whole rod is shown. Using the given information, identify I KAt RNBY YIé& GKAyl |GKEd
which whole rod is longer. FOGdzr t e GKS &l YS Fla (K
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Explain your reasonin%
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If this is% what would the whole look like?
If this is 31 what would the whole look like?
If this is 41 what would the whole look like? What would 21 look like?
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Place these decimals on a line from 0 to 2:

0.3,01,09,0512.19

0 | 2

Which is lighter: 3.5kg or 5.5kg? 3.72kg or 3.27kg? Which is less: £4.50 or £4.057

Putin order, largest/smallest first:

6.2,5.7,45,76,52.99,199,1.2,21
Convert pounds to pence and vice versa. For example: Write 578p in £

How many pence is £5.98, £5.60, £7.06, £4.007 Write the total of ten £1 coins and seven
1p coins (£10.07)

Write centimetres in metres. For example, write: 125 cm in metres (1.25 metres)
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Give an example of...

. . 2
Anequwamntﬁﬂcnﬂnforg."andanothen.
How can you prove it? Show me (use images or concrete resources)
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Show how— for— or —
3n 3 24

2n 2 6 (2x3)
And — for- —
3n 3 9 (3x3)

What if n was 67 What if it was 47?
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So therefore it is 0.25 as a decimal
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Express the yellow section of the grid in hundredths, tenths, as a decimal and as a
percentage of the whole grid.
Do the same for the red section.
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